SECTION 1 |

o

11 How many 2ps have the same

- 28p+80p=1~L%

: Multiply £0.40 by &.

¢ 27p = & Sps plus six 2ps

Test 1

Write in words the
number shown
on the abacus.

Th H T U

(3x09)+6= 33

9cm 4mm = 5 mm

237p=£ £2.37

80 x 10 = o 800 |

(78+3)_(16+4)z . e B

|
~1|N

+
£1.08.
£6 = & 50ps

1h 50min = #: min 110min

300-175 = e 125

Add four hundred to one thousand
and ten. Answer in digits.

Find the change from 50p after
spending 28p. 22D

‘. Write 87 1o the nearest 10. 80
6: Divide 200 by 10. 20

¢ Write as £5 the sum of 26p, 28p

and 50p. £1.04

15

© How many tenths in 137 - T

40 Subtract 36p from L1. - B4p

value as four 10ps?

Find the cost of one if 10 cost £1. o 9p

12 50ps |

1410 |

35p5 |

..202ps

; 10

2

Which of these numbers will not
divida into 36 without a remainder?

12 4 6 8 9

Schofield & Sims

find the vélue of the missing number. -

24428 = + 12

How many greater is 4 x 7
than 4+ 77

This clock [s
14min slow.
Write the
correct time
using a.m.
or p.m.

5. By how much is the value of fifteen

2ps less than the value of nine 5ps?

¢ If 100g of flour costs 30p,

how much will 350g cost?

(54 +9+(3x12)=

© Arrange these digits to make the

largest possible number.

0o 7 91

. 9. Find the length in centimetres
: Increase 29 by 33. e 62 -

of the marked length.

12cm

fem,

dcm

It %kg costs 86p, how much
will 2kg cost?

Signs on a motorway are 100m apart.

Find in kilometres the distance
between 11 of the signs.

Name the two rectangles, each of
which has three quarters shaded.

40

17

2907 pamn,

KLY

£1.05 .

A2

9710

3cm

£1.29

dkm
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- Write 37 using Roman numerals.

© Write in digits three thousand one
hundred and fourieen.

- By how many grams is 820g less

- Divide 1Tm by 5. Answer in

© 84p=710ps+ & 2ps

. Find the sum of £0.24 and £0.69.

Write in words the
number shown
on the abacus.

180 + 30 = 210

600 + 10 = &0

98mm = @ am “Emm : 2 8am

(8x12)+7 = 103
- 204cm = m st am La2mo o Aam

5. 220 - 70 = 170

- Lof2s+tof7= 6

2+8+34= ' 64

75min = 3 h & min ~1h

£1.00- #p =53p . ATD

than 1kg?

centimetres.

¢ Find the change from a 50p after , :
spending 16p. 34p |

Find the cost of one if 10 cost £2. o 20p

. ‘How many eighths in 5 whole ones? T8

: What must be added to 75p to
make £1.507 750

How many minutes from 7.47 a.m.
to 8.15am.?

One costs £0.42. Find the cost

of three. £1.47

Find the difference between

7 x.9and 9 x 6. ' 9

four,théusaﬂd six hundred and two i

JBmm

XXXV

15min

3114
_180g |

_20cm

__28min |

72es 10

B
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© Take two thousand and

twenty from 2222, 82

. What number other than

1, 3 and 27 will divide into 27
without leaving a remainger? o g

- Which of the triangles is a

right-angled triangle and has
two equal sides? R W

W x Y Z

P

One-quarter of a class of 32 children
have black hair. How many children
do not have black hair? ' 24

Which three coins are given in change
from £2 after spending £1.35? 50p 10p  5p

Write the total mass of the four tins
in kilograms and grams.

=22 Find the difference between the

two largest fractions in this set.

(3 6 134 S x
101010410 o . HO

Find the difference between (7 x 10}
and (7 x 100}, : ... B30

. Mia bought a box containing 500 4

straws, How many weeks will they
last if she uses 20 straws each week? 25

Write the sum of £0.36, £1.24 )
and £1.40. - £3.00

How many children altogether in

the four classes? e 100

Class 1 | Class 2 ! Class 3 | Class 4
25 26 25 24

If baby food is sold at.£2 per kg,

| how many grams can be bought for

a f1 a
b 50p?

_250g
1259




